Computer Science 4630

Spring 2001

Quiz 5

True/False.  Write a clearly legible T to the left of each of the following that is true, and a clearly legible F to the left of each that is false.

1. One impediment to process migration is the presence of computers with different kinds of processors.

2. Ethernet is a popular kind of wide-area network.

3. In a typical cable-based Ethernet, more than one conversation among computers can be going on at once.

4. A computer can only open a socket connection to a different computer, never to itself.

5. For a server to support a service (such as http or ftp) the server must be running a process that waits for a connection to be requested.

Multiple choice.  Circle the letter of the best answer to each question.

6. The ftp utility is used to transfer files among different computers.  It is characteristic of

a. a stand-alone (non-networked) operating system.

b. a network operating system.

c. a distributed operating system.

7. A program that copies itself over network connections, moving from one computer to another, is usually called 

a. a worm

b. a virus

c. a Trojan horse

d. a trap door

8. The access matrix approach to protection has the advantage of

a. low space requirements

b. low time requirements

c. ease of update and upkeep

d. flexibility in expressing permissions

9. Each packet sent using TCP/IP contains an address consisting of

a. An IP address and a port number.

b. An IP address and a process number.

c. A symbolic address and a port number.

d. A symbolic address and a process number.

10. A file server provides stateless service if

a. The server keeps track of information about open files on client machines

b. The server does not keep track of information about open files on client machines.

c. The files that it provides are not stored physically on that server.

d. The files that it provides are stored physically on that server.

11. When a server accepts a connection on a socket, it

a. continues to communicate with the client over the same socket.

b. gets a new socket from the accept operation, and communicates with the client over that socket.

c. needs to create a new socket on its own, and open a connection to the client explicitly over the new socket.

12. Communication over BSD sockets is handled using

a. file system operations (read, write).

b. message passing.

c. remote procedure calls.

d. rendezvous.

13. The IP protocol is primarily concerned with

a. Reliable delivery of packets between directly connected machines.

b. Reliable delivery of large (multi-packet) messages between machines that are not necessarily directly connected.

c. Routing packets through the network.

d. Maintaining long-term connections among computers.

